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Question 1

Question Type: FilllnTheBlank

In order to specify alterations to an LDAP entry, what keyword is missing from the following LDIF file excerpt?

dn: cn=Some Ferson, dc=example, dc=com
changetype:

Specify the keyword only and no other information.

Answer:

Question 2

Question Type: MultipleChoice

Which of the following statements in the ISC DHCPD configuration is used to specify whether or not an address pool can be used by
nodes which have a corresponding host section in the configuration?



Options:

A- identified-nodes

B- unconfigured-hosts
C- missing-peers

D- unmatched-hwaddr

E- unknown-clients

Answer:

E

Question 3

Question Type: MultipleChoice

How are PAM modules organized and stored?

Options:




A- As plain text files in /etc/security/

B- A statically linked binaries in /etc/pam.d/bin/

C- As Linux kernel modules within the respective sub directory of /lib/modules/
D- As shared obiject files within the /lib/ directory hierarchy

E- As dynamically linked binaries in /usr/lib/pam/sbin/

Answer:

Question 4

Question Type: FilllnTheBlank

What is the name of the root element of the LDAP tree holding the configuration of an OpenLDAP server that is using directory based
configuration? (Specify ONLY the element's name without any additional information.)

Answer:




Question 5

Question Type: MultipleChoice

In a PAM configuration file, which of the following is true about the required control flag?

Options:

A- If the module returns success, no more modules of the same type will be invoked

B- The success of the module is needed for the module-type facility to succeed. If it returns a failure, control is returned to the calling
application

C- The success of the module is needed for the module-type facility to succeed. However, all remaining modules of the same type will
be invoked

D- The module is not critical and whether it returns success or failure is not important

E- If the module returns failure, no more modules of the same type will be invoked

Answer:

C

Question 6




Question Type: FilllnTheBlank

According to this LDIF excerpt, which organizational unit is Robert Smith part of? (Specify only the organizational unit.)

dn: cn=Robert Smith, ou=people, dc=example, dc=com
objectclass: inetOrgPerson
cn: Robert Smith

cn: Robert J Smith

cn: bob smith

sn: smith

uid: rjsmith

userpassword: rJsmitH
carlicense: HISCAR 123
homephone: 555-111-2222
mail: r.smith@example.com
mail: rsmithlexample.com
mail: bob.smith@example.com
description: swell guy

Answer:

Question 7

Question Type: MultipleChoice




Which of the following PAM modules allows the system administrator to use an arbitrary file containing a list of user and group names
with restrictions on the system resources available to them?

Options:

A- pam_filter
B- pam_limits
C- pam_listfile

D- pam_unix

Answer:

B

Question 8

Question Type: MultipleChoice

How is the LDAP administrator account configured when the rootdn and rootpw directives are not present in the slapd.conf file?



Options:

A- The default account admin with the password admin are used
B- The account is defined by an ACL in slapd.conf

C- The default account admin is used without a password

D- The account is defined in the file /etc/ldap.secret

E- The account is defined in the file /etc/Idap.root.conf

Answer:

B

Question 9

Question Type: MultipleChoice

A host, called Ipi, with the MAC address 08:00:2b:4¢:59:23 should always be given the IP address of 192.168.1.2 by a DHCP server
running ISC DHCPD.

Which of the following configurations will achieve this?



host 1pi |
hardware—-=thernet 08:00:2k:4c:59:23;
fixed-address 192.168.1.2;

host 1pi {
mac=08:00:2kb:4c:5%:23;
ip=1%2.168.1.2;

C  hostlpi =08:002b:4¢c:59:23 19216812

]
host lpi |
hardware ethernet 08:00:2b:4c:559:23;
fixed-address 192.168.1.2;
}
E

host 1pi {
hardware—-address 08:00:2b:4c:59:23;
fixed-ip 192.168.1.2;



Options:

A- Option A
B- Option B
C- Option C
D- Option D
E- Option E

Answer:

Question 10

Question Type: MultipleChoice

If there is no access directive, what is the default setting for OpenLDAP?



access to *

by * read
B
access to *
by anconymous none
by * read
C
access to ¥
by anonymous auth
by * read
D

access to ¥
by ancnymous write

by * read

Options:




A- Option A
B- Option B
C- Option C
D- Option D

Answer:

B
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